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B.A. (CBCS) DEGREE EXAMINATION, APRIL 2023

Sixth Semester
¢ Iconomics — Core
MACRO ECONOMICS — II
(For those who joined in July 2020 only)
Time : Three hours Maximum : 75 marks
PART A — (10 x 1 = 10 marks)

Answer ALL questions.

Choose the correct answer :
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Oewwr gram@ib sryent erg ?
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According to Keynmes what causes changes ip
inducement to invest by entreprencurs?

@ MPC and MEI
() MEC and MPS
{©0 MEC and rate of interest

(@ MPC and rate of interest

aly Sppos EL efiumsEn apauml dsnh
SHs0rs QOHET

(@) S0 Poaurs GGEED
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@) edb =fsfisew

(™) ek GEpYDd

If expected rate of return is greater than rate of
interest, then

{2) Investment remains stable

(b) Investment will fall

{¢) Investment will increase

{(d) Investment will decline
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Qsrenent  Qurmeflwellas efenwew  Hiremibsdd
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(@) uwewr sefiuy

(F) GQurgs Ggemau

In the classical view, the price level is determined
by

(a) Aggregate supply

- (b) Aggregate demand and supply

(c) Supply of money
(d) Aggregate demand

Sanaller  Qametersiing  Geaueme emiuy wHDD

Qeuafluien Hirermuting

(=) Geaflliy - psd@ spgeTew

(1) 2pusd emmy

(&) uwgerer Caeneu

() uargHenGgeneu LHMD LI ey

Under Keynesian theory employment and output
is determined by

(a) Saving investment equality

(b) Production function
(¢) Effective demand

(d) Demand for money and supply of money
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Which of the following is the negative aspects of a
business cycle?

(2) An increasing rate of inflation

(b) A declining rate of inventory investment
(¢ A reduction in government budget deficits
(d) A declining rate of unemployment

arefln  spHadler Siig DL L SE DS

Qsren(p Qedeug).
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() Camerfenern ez

The trough of a business cycle occurs when
hite its lowest point.

(a) Inflation
{(b) Money supply
(c) Aggregate economic activity

(d) Unemployment rate
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Which among the following does not have the
application of multiplier?

(a) Determination of income

(b) Fiscal policy

(¢) Monetary policy

(d) TForeign direct investment

HAuG W Qardreslar  smel NereupeuaTeuhmisT
TG D ?

() emis QFoaleamd

(<) eufl

(@) uflorhp sLLemnd

(m)y  eumdl &figbd

Which among the following is not a tool of fiscal
policy?

(a) Government expenditure

(b) Taxation

(¢) Transfer payments

(d) Bank rate
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10.

QupsSieu sewsdl R.gayb D BuTBag G,

l_c,]gnm@msnmm@wh cTenal ? ‘

(=) 11-MPC (<4) 1/MPC = MPS

@ 1/1-MPS ()  1/MPC+MPS

The formula for calculating simple multiplier ig

(a) 1/1-MPC (by 1/MPC=MPS

© 1/1-MPS (d) 1/MPC+MPS

Qacispms Hapey ereuaump RBI wlenr  siey

s_QUuTC®  wpmb  Quigerrsmy euaTiES &

alauEssnsg
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@) susseas gob dipeaug
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Geleug

Open market operations, one of the measure takes
by RBI in order to control credit expansion in the
economy means

(a)

(b)
(e)
(d)

Sales or purchase of gilt-edge government
securities

Issuance of different types of bonds
Auction of gold

To make available direct finance to

borrowers
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11.

12.

13.

PART B — (5 » 5 = 25 marks)

Answer ALL questions choosing either (a) or (b).
Kach answer should not exceed 250 words.

(31)

(2h)

(2D

(<2b)

(21)

(=)

MEC wppib MElWer o_pefenar eflansEs.
Explain the relation between MEC and MEL
Or
PESige LGy euSEHET WTea?
What are the different types of investment?
AsQed Qararensuler Wl ibsmsmer
&(H&ELNG oflers@s.
Briefly explain the major aspects of Wicksell
theory.
Or

Semallen aul_lg QamdTensaw eflersGs.

Explain Keynesian theory of interest.

&L L febr Qeraremseow.  uHbl

aflers&s.

LBBTES

Explain the Schumpeter’s innovation theory.

Or
aurerllu spHduder Laapsramar afeuf.

Describe the phases of business cycle.
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14. (&) Qu@psdufier Qewdapanpn elardses.

(<)

Explain the working process of the

multiplier.

Or .
i) WHHILD Caueme  QupsdHulenar
CUENTWIM &. ‘

Define dynamic and employment multiplier.

Hgé Qarctensulel smeseT wirenay 7
What are the instruments of fiscal policy?

Or )
Hfls GCasmetensenw V Liemrs; Gl g memen & 68l (515 551
Caumu(ps5!5.
Differentiate between monetary policy and
fiscal policy.

PART C — (5 x 8 = 40 marks).

Answer ALL questions choosing either (a) or (b).
Each answer should not exceed 600 words.

16. (=)

wsSL®  srnlemeryd  wg  Hlramuised
amyeflsmer alflours aflarsEs.

Elaborately explain the investment function
and its determinants.

Or
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17.

18.

19.

(<2h)

(31)

(<21)

(<)

(<31)

pICs WpBeSiant uebGeumy Lrd&@&n
aryemi&enen &ermés g5,
Describe the various factors affecting

induced investment.
Earallen euligufer Birenou iy @asTeaTensamL
SHparmile) Qsuis.

Critically examine the Keynes liquidity
preference theory of interest.

Or
Qarementn  eullg
LG SMET < Tmiiies.

Examine the major aspects of classical
theory of interest,

Q& reranasudl 6t Qp&du

cumestlL
cflarsEs.

aspnfHlulear  LHGaum

& [T1] G587 Thl & ED 6T

Tixplain the different causes of trade cycle.
Or

afsev eurenilu spHé Qararmsamw elaréEs.

Explain the Hick’s theory of business cycle.

@sS® Qu@psdyn Qumsdliar sflajsmar

cilend @ s.

Explain the investment multiplier and
highlight the leakages of multiplier.

Or
Page 9 Code No.: 30406 B



20.
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(<31)

Qupslulier Gewdepapeaw Hpemmiie Qeys.

Critically examine the working of the
multiplier. -

uewrellwed Q&meTensud s LeGaumy  &melsamar
oYl emd & 5.

Explain the various instruments of monetary
policy.

Or
QUETTTH S QU(HLD Brhsefe Licmred wied
Oaratemswller umifmenyd ogar odfeunss
LHML  SLOUOSHD uaTsbsTaTens  LHM
eSleuféas.

Explain  expansionary and restrictive
monetary policy and the role of monetary
policy in a developing economy.
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